Name

Multiply By 9 riddle worksheet 2

Multiply by 9
Solve the multiplication problems to answer the riddle.
Ax/=
qu= e
AxH= i
qx6= g
Ix10=___p
qx5= e
A | =
qx3= n
qxq= S
qx2’= e
What is more wonderful thanh a dog
Ax8= b that Cah count?

A

&l 90 18 9 63 36 2/ bH /2 0 4b
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Multiply By 9 riddle worksheet 2 Answer Key

Multiply by 9
Solve the multiplication problems to answer the riddle.
Ax/=63 |
9%0=0 e
Ax4=36 |
6=54 g
Ax10=90 p
Axb=4bH e
A | =9 |
9%3=27 n
A%9=81 s
A2 =18 e
What is more wonderful thah a dog
A&=/2 b that Canh count?

A siplefl||l]|i||n]g blel|e

&l 90 18 9 63 36 2/ bH /2 0 4b5
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